



St. Louis County, Minnesota

Date of Report: 5/14/2025 10:49:23 AM

General Details

 Parcel ID:
 340-0042-00530

 Document:
 Torrens - 1009237

 Document Date:
 03/29/2019

Legal Description Details

Plat Name: CEDAR ISLAND PARK TOWN OF FAYAL

Section Township Range Lot Block

- - 0053

Description: LOT: 0053

Taxpayer Details

Taxpayer Name GROOM LEONARD M III & MEGAN L

and Address: 4412 CEDAR ISLAND DR

EVELETH MN 55734

Owner Details

Owner Name GROOM LEONARD MATHEW III

Owner Name GROOM MEGAN L

Payable 2025 Tax Summary

2025 - Net Tax \$4,361.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$4,446.00

Current Tax Due (as of 5/13/2025)

Due May 15		Due October 15		Total Due			
2025 - 1st Half Tax	\$2,223.00	2025 - 2nd Half Tax	\$2,223.00	2025 - 1st Half Tax Due	\$2,223.00		
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$2,223.00		
2025 - 1st Half Due	\$2,223.00	2025 - 2nd Half Due	\$2,223.00	2025 - Total Due	\$4,446.00		

Parcel Details

Property Address: 4412 CEDAR ISLAND DR, EVELETH MN

School District: 2909
Tax Increment District: -

Property/Homesteader: GROOM III, LEONARD M & MEGAN L

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$183,500	\$296,600	\$480,100	\$0	\$0	-		
	Total:	\$183,500	\$296,600	\$480,100	\$0	\$0	4768		





St. Louis County, Minnesota

Date of Report: 5/14/2025 10:49:23 AM

Land Details

Deeded Acres: 0.00 Waterfront: ELY Water Front Feet: 106.00 Water Code & Desc: P - PUBLIC

Gas Code & Desc:

Sewer Code & Desc: P - PUBLIC Lot Width:

ot Width:	0.00							
ot Depth:	0.00							
ne dimensions shown are n	ot guaranteed to be s	survey quality.	Additional lo	t information can be	e found at			
tps://apps.stlouiscountymn	.gov/webPlatsIframe/				ions, please email PropertyTa	ax@stlouiscountymn.gov		
		Improve	ement 1 D	etails (HOUSE	i)			
Improvement Type	Year Built	Main Flo	Floor Ft ² Gross Area Ft ² Basement Finish		Basement Finish	Style Code & Desc.		
HOUSE	1953	1,68	82	1,682	GD Quality / 784 Ft ² RAM - RAMBL/			
Segment	Story	Width	Length	Area	Foundation			
BAS	1	2	7	14	CANTILE	/ER		
BAS	1	8	13	104	FOUNDAT	ION		
BAS	1	13	16	208	FLOATING	SLAB		
BAS	1	18	24	432	BASEME	NT		
BAS	1	28	33	924	BASEME	NT		
CW	1	4	18	72	FLOATING SLAB			
CW	1	6	18	108	FLOATING	SLAB		
OP	1	3	7	21	POST ON GROUND			
OP	1	6	10	60	POST ON GROUND			
Bath Count	Bedroom Co	ount	Room (Count	Fireplace Count HVAC			
1.75 BATHS	3 BEDROOF	MS	-		1 C&AIR_COND, G.			
		Impro	vement 2	2 Details (AG)				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc		
GARAGE	1968	31		312	- ATTACHED			
Segment	Story	Width	Length		Foundation			
BAS	1	13	24	312	FOUNDAT			
Brito	·					1011		
		Improveme	ent 3 Deta	ails (LAKE ST+	OP)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc		
STORAGE BUILDING	0	80)	80	-	<u>-</u>		
Segment	Story	Width	Length	Area	Foundation			
BAS	1	8	10	80	POST ON GROUND			
OPX	1	2	10	20	POST ON GROUND			
		Improvem	ent 4 Det	ails (4X23 STC)R.)			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc		
STORAGE BUILDING	0	92	2	92	-			
Segment	Story	Width	Length	Area	Foundati	on		
BAS	1	4	23	92	FLOATING SLAB			





St. Louis County, Minnesota

Date of Report: 5/14/2025 10:49:23 AM

				'!- (D-('-)							
			rement 5 Deta	•		. =					
Improvement Type Year Built				ss Area Ft ²	Baser			•	de & Desc.		
_	0 684			684		<u> </u>		ON - CO	ONCRETE		
Segmei		•				Founda	ation				
BAS	0	0	0 684			-					
Improvement 6 Details (DG)											
Improvement Type			Main Floor Ft ² Gross Ar		Basement Finish		S	•	de & Desc.		
GARAGE	2020		896 896		-			DETA	CHED		
Segmen		•			Area Four		ation				
BAS 0 28 32 896 -											
		Improve	ement 7 Detai	ls (By lake)							
Improvement Type	e Year Built	Main Flo	Main Floor Ft ² Gross Area Ft ²		Basement Finish Style Code & De				de & Desc.		
LEAN TO	0	48	48		-		-				
Segmei		•	J		Foundation						
BAS	1	4	12	48		POST ON GROUN		UND			
Improvement 8 Details (Roadside)											
Improvement Type	e Year Built	Main Flo	Main Floor Ft ² Gros						Style Code & Desc.		
	0	30	7	307	<u>-</u>			PLN - PLAIN SLAB			
Segme		•	J			Foundation					
BAS	0	0	0	307		-					
		Sales Reported	to the St. Lo	uis County A	uditor						
Sal	le Date		Purchase Pric	e		CR	V Num	ber			
03	3/2019		\$250,000				231226	i			
		As	ssessment Hi	story							
	Class Code	Land	Bldg	Bldg Total		Def Land		Def Bldg Ne			
Year	(Legend)	EMV	EMV	EMV		EMV		ΝV	Capacity		
2024 Davielle 2025	201	\$168,300	\$257,200	\$425,50	00	\$0	\$	0	-		
2024 Payable 2025	Total	\$168,300	\$257,200	\$425,5	\$425,500		\$	\$0 4,172.			
	201	\$168,300	\$257,200	\$425,50	\$425,500		\$	0	-		
2023 Payable 2024	Total	\$168,300	\$257,200	\$425,5	\$425,500		\$	\$0 4,255.			
	201	\$168,300	\$257,200	57,200 \$425,500		\$0	\$	50	-		
2022 Payable 2023	Total	\$168,300	\$257,200	\$425,5	\$425,500		\$	0	4,255.00		
0004 D 11 0000			\$277,50	00	\$0	\$	60	-			
2021 Payable 2022	Total	al \$118,800 \$158,700 \$277,		\$277,5	00	\$0	\$	60	2,652.00		
Tax Detail History											
		Special	Total Tax & Special			Taxable Bui	lding				
Tax Year	Tax	Assessments	Assessments		Taxable Land MV			Total Taxable MV			
2024	\$4,621.00	\$85.00	\$4,706.00	\$168,3		\$257,200		\$425,500			
2023	\$4,883.00	\$85.00	\$4,968.00			\$257,20			•		
2022	\$3,363.00	\$85.00	\$3,448.00	\$113,549		\$151,686		\$2	265,235		





St. Louis County, Minnesota

Date of Report: 5/14/2025 10:49:23 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.